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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]

7.0

6.9 -

6.8 -

6.7

6.6 -

6.5 -

Warning: col

—— PHO

60




Trend plot forP5 0
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m=640,n FV0=0
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16
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640
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20 A
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m=955,n FV0=0
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18.0 4
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17.0 A
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m=525, FV0=0

24

22 -

20 -

18

16
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m=675,m FV0=0
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830 835 840

Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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m=525, FV0=0

Warning: col ['M_E'] missing

0.2 0)4 0)6 0.8
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Warning: col ["M_E’] missing

0.2 0)4 0)6 0.8
m=830, FV0=0

Warning: col ['M_E’] missing
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0.2 0.4 0.6 0.8
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ["M_E’] missing
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0.0 0.2 0.4 0.6 0.8 1.
m=910, FVO0=0
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.6 1
.4
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Warning: col ["M_E’] missing
0.0 0.2 0.4 0.6 0.8 1.

m=640, FV0=0
.8 1
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.4 4
.2 4
Warning: col ['M_E'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=785, FV0=0
.8 1
.6
.4
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Warning: col ["M_E’'] missing
T T T T
0.0 0.2 0.4 0.6 0.8 1.
m=955, FV0=0
. 8 4
.6 1
.4
.2 4
Warning: col ["M_E’'] missing
0.0 0.2 0.4 0.6 0.8 1.
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P5

BflE) | GEBRAMK @) | ERE(ERH/ | EREE (/R [ XS R

07:15 283 150.0 0.588 F[ BRi&e07:15 Bz CGRAEREESE)
07:50 283 150.0 0.588 E| {Ri%e07:50 Bz (KRAERSE)
08:25 283 150.0 0.588 F  BRi%e08:25 Bal (RAEREE)
09:00 283 150.0 0.588 El 1BRi&@09:00 Bzl (RFAEREE)
09:40 283 150.0 0.588 S| {Ri%e09:40 B (KRAERSE)
10:20 283 150.0 0. 588 F BRi%e10:20 Bz (GRAERESE)
11:00 283 150.0 0.588 F {Ri%e11:00 Bz (GRAERSE)
11:35 283 150.0 0.588 Sl 1Rige11:35 B3 (RAERSE)
12:10 283 150.0 0.588 Fl BRige12:10 Bz (GRAERESE)
12:45 283 150.0 0.588 = Rige12:45 Bz (REAEERESE)
13:30 283 150.0 0.588 =l 1Ri%e13:30 B3 (RAERSE)
14:10 283 150.0 0.588 El BRige14:10 Bz CGRAEESE)
14:50 283 150.0 0.588 5| {Ri%e14:50 B3 (GRAERSE)
15:40 283 150.0 0.588 5 {Ri%e15:40 Bz (GRAERSE)
16:40 283 150.0 0. 588 E {Ri%e16:40 B3 (KRAERSE)
21t 4245.0 (15)%) 2250. 0 32 3KEC: 2080.0, PH: 6.5

IE K i3 (B FRECE 1R SR 4K

HEEHECE (2325.0 vs 3335.0) RE
RE R ERHHEREC/PHIE SR, AIAESLIMAREL R SR



P5_0, Day=60 (2025-06-03)
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Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing
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25 -
24
20
23 +
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9] Warning: col ["M_E’'] missing
T T T -0 T T T T
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Warning: col ['M_E’'] missing Warning: col ['M_E'] missing
.0 T T T T -0 T T T T
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Warning: col ['M_E’'] missing
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Warning: col ['M_E'] missing
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Warning: col ["M_E’'] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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P5

BflE) | GEBRAMK @) | ERE(ERH/ | EREE (/R [ XS R

06:05 273 150.0 0.588 [Z=| 1Ri%e06:05 Bzh (REERSE)
06:50 273 150.0 0.588 [Z=| 1BRiZe06:50 Bzh (RHEEREE)
07:35 273 150.0 0.588 F  BRi&e07:35 Bz (REERESE)
08:30 273 150.0 0.588 & {RiZe08:30 B (RAEREE)
09:20 273 150.0 0.588 =l RRi8009:20 B (RFAEEE)
10:00 273 150.0 0. 588 F BRi%e10:00 Bz (GRAERESE)
10:40 273 150. 0 0.588 = Ri80@10:40 Hah (RAEESE)
11:25 273 150.0 0.588 =l Rige11:25 Bah (REAEREE)
12:20 273 150.0 0.588 F BRige12:20 Bz (GRAERESE)
13:00 273 150.0 0.588 [Z=| 1BRiBe@13:00 Bzh (REEREE)
13:35 273 150.0 0.588 [Z=| 1BRige13:35 Bzh (REERESE)
14:15 273 150.0 0.588 [Z=| Bige14:15 Bzh (REERESE)
14:55 273 150.0 0.588 (& =| BRige14:55 Bzh (REERE)
15:45 273 150.0 0.588 |Z=| 1Ri&e15:45 Bzl (GRAEESE)
16:55 273 150.0 0.588 [Z=| 1BRige16:55 Bzh (REERESE)
21t] 4095.0 (15)%) 2250. 0 32 3KEC: 2080.0, PH: 6.5

#[ERECE (2260.0 vs

3293.0) RS




P5_0, Day=59 (2025-06-02)

FRV (ml plant-1)
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56 Warning: lcol [FVI',| "FVO’'] missing 0
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0.8 -
0.6 -
0.4 -
0.2 -
Warning: lcol ["WC1',  "WC2'] missing
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2200 o o ® P ® ECC
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1
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2000 { —_ 4
| _obs
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100 1 a
80 A l L J -‘ l\ ‘
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o RHo obs'ning: lcol ['RH_obs’] is missing
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29.

29.

29.

29,

m=485, FV0=0

—0— MW —0— MW
30. 6
30
30. 4
29 30. 2 A
30. 0 A
28
29. 8 1
27 4 29.6
T T T T T T T T
500 600 700 800 900 485 490 495
m=665,m FV0=0 m=775,m FV0=0
, | - MW 27. 80 A . MW
0 - 27.75 A
8_
27.70 A
6_
4 27. 65 A
2_
27. 60 A
T T T T T T
665 670 675 775 780 785
m=485,m FV0=0 m=545 m FV0=0
0 1.0
8 0. 8 A
6 0.6 -
44 0.4
2 0.2 -
Warning: col ["M_E’] missing Warning: col ["M_E’'] missing
0 T T T T 0-0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.
m=775, FVO0=0 m=875, FV0=0
0 1.0
8 0. 8 1
6 0.6 -
4 0.4 -
2 0.2 -
Warning: col ['M_E’'] missing Warning: col ['M_E'] missing
0 T T T T 0-0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.
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m=545, FV0=0

—— MW

550 5%5
m=875,n FV0=0
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m=605,n FV0=0

T
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Warning: col ['M_E’'] missing

. 0 T T T T
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Warning:

col ['M E'] missing
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Warning:

col ['M E'] missing
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P5

BYE) | GEBERTIC (B)) | ERE (BEA/4K) | EREE (B/R) | XS SRR

06:30 273 150. 0 0.588 Z| {Ri%e06:30 B (KREAEZERE)
07:30 273 150. 0 0.588 Z| {Bi%e07:30 Bzh GGREAERESE)
08:30 273 150.0 0.588 Z| 1Ri%e08:30 Bzh (REAERE)
09:30 273 150.0 0.588 |Z=| 1Ri%e09:30 Bzl (REERSE)
10:30 273 150.0 0.588 |&Z=| 1Ri%@10:30 Bz (REAZEBSE)
11:55 273 150.0 0. 588 FH| 1BRi&e11:55 Bz (GRAEREE)
13:10 273 150.0 0.588 FA| 1BRi%@13:10 B3h (RAERESE)
14:30 273 150. 0 0.588 FH| 1Ri%e14:30 Bz (GREAERSE)
16:00 273 150.0 0.588 FH| 1Ri%@16:00 B (RFAEESE)
23t 2457.0 (9%) 1350. 0 32 UHHEC: 2080.0, PH: 6.5

unusual large postFgEt from yesterday (517), set to 450.0 ml.
FEESRECE (2222.0 vs 3272.0) RS



P5_0, Day=58 (2025-06-01)

L e e e e e 1047
V|,V0,§§¥,ET - VI, V0, FVI, FVO, FRV, adjFRV, ET | 1000
100 4198
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50 - 500
60 Warning: lcol [FVI',| "FVO’'] missing 56
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~ ( — MW A
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= =
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~ T o T —
= 50 - 30
o
1.0 29
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
2800 3
optEC0=2600. 0, setECB=2080.0 ® L] () ——  ECBx10% [t
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Ly S ————— % X 3¢ 0 g g g g g A S
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7.0} optPHO=6.5, setPHB=6.5 ——  PHBx10% f
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o
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1
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C
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<
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E
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% 600 NG L BH | XM |)Wm| &£ z z N EZNEXS N FH BH [A FH FH BH [A FH B |Z=|%=| %= [ 2000
= 1
%_ ByWoFv ?D62 02:03: ET=1047 Fg=1350.0 Ro=152.0 L 1500
<400 - |
£ ] [ 1000
£
~—~ I
. 200 - - 500
1.0- 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
0.8—'J\Eﬁ BH BH | XM |)Wm| &£ z z N EZNEXS N FH BH [A FH FH BH [A FH GCHREFREFIESS
0.6 -
0.4 1
0.2 A
0.0
600 4 N 4
[ ] | _obs
400 - —@— PPFD obs
200 -
RH
RH_obs
RHo _obs

FRV (ml d-1)

cumET (ml/plant)

cumET (ml/plant)

cumET (ml/plant)



3

3

3

3

3

31.

31.

31.

31.

30.

2.0 A

1.5

1.0 A

0.5 A

0.0 -

M_W

T
500

T T T
600 700 800

m=820,m FV0=0

—— MW

8é5 850
m=640,n FV0=0

T
820

1.0

0.8~

0.6

0.4+

0.2~

0.0

Warning: col ['M_E'] missing

0

0 0.2 0.4 0.6 0.8

m=520, FV0=0 m=580, FV0=0
3.004 @ MW 3184 o M
30. 75 - 31.6 1
30. 50 - 31-41
31. 2 1
30. 25 A
31.0 ~
30. 00 A
30. 8
2975‘ T T T T T
520 525 530 580 585 590
m m=520,m FV0=0
1.0 1.0
0.8 1 0. 8 A
0.6 - 0.6 -
0.4 - 0.4
0.2+ 0.2+
Warning: col ["M_E’] missing Warning: col ['M_E'] missing
00 T T T T 00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8
m=820, FV0=0
1.0
0.8 1
0.6 -
0.4 -
0.2 A
Warning: col ['M_E’] missing
0.0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0

.0

32.

32.

31.

31.

31.

31.

31.

m=640, FV0=0

—— MW

640

6&5 660
m=580,n FV0=0

Warning: col ["M_E’] missing

0.0

0.2 0.4 0.6 0.8

1.

0



